6H12HFMBIETCOVID-19fEZ{E 3%

hIUmiTRIEEE SR/ 2022/06/12

ge | MRl | ER Bl e | mmA fEk w2H | e
1| = |ozmr DIEERE = e 524 | 6/9
2 | % |ozmblr B D = 6/3 - B 6/4 | 68
3 | % |oosmuL bR 38 6/5 cEEAES - B 6/5 | 6/8
4 | = |oozmuL W 1E S 2 6/7 R 6/8 | 6/8
s | = |oozmulr| Aerme@ss) = e 530 | 5/30
6 | « |90zmblr B = 6/5 T W RIS - RN 6/5 | 6/8
7 | 2 |oozmur B EES = 5/28 w5 672 | 68
s | = |oozmblE| emnmmms 17 Ha 6/2 | 6/9
9 7 0ZmIU L ODMEERS 2 5/28 IZ WL~ £R 5/29 6/9
10 | % |o0zmiir A = 6/4 %5 2EEA - ITRE 6/5 | 6/9
11| % |90zl =M 38 5/25 e 525 | 6/9
12| = |0zmLlLE BRAES 17 6/2 05 AR - IPRER 653 | 6/5
13 | % |o0zmbLlE 1T 2 B 38 6/5 0% - IFIRER 6/5 | 6/9
14 | % |oozmblr| AEEELEEED) 3 5/27 IR 528 | 6/9
15 | % |o0mmilr B EES 3 6/2 | mmEE - WREE - wH- REES | 62 | 6/8
16 | = |o0zmbLE BB = Ha 671 | 6/8
17 E 0ZmI L LNMEERS 17 5/19 @At ~ §8E - IZIE 5/22 6/5
18 | % |90zl B S = 6/4 IR - HE - B 63 | 6/4
19 | = |o0zmblE BETES = 6/2 IR 612 | 677
20| = |sozmir 1S 2 = 6/3 HRER - TR R 6/3 | 69
21 E 90Z%m LA NI EERSE 17 & 6/7 o/7
2 | % |osmuLE DIMEERS 17 5/30 BRE TR 530 | 6/9
23 | % |oosmuL o 3 e 6/5 | 6/6
24 | % |0zmiir 1S 2 B 17 5/30 s 653 | 6/3
5 | = |ozmir BT S 175 s 525 | 677
26 | % |ozmblE|  mEnmEms = e 516 | 6/8
27 | % |oosmuE B 3 6/4 R 6/4 | 6/6
28 | % |ozmir S = 6/7 IR 6/7 | 6/9
29 | % |ozmiir 1T 2 B = g 62 | 61
30 | % |90zmuL B 3 L 6/6 | 6/9
31| = |0zmblE EE NS 3 6/3 05 63 | 64
2| % |ozmLlLE DMEERS 3 e 6/5 | 68
33 E 0ZmI L BlEMREGEED) 2 5/30 Ehye= 5/30 6/9
34 | % |o0zmuE DIE RS = 5/28 05 529 | 6/
35 5 90% LA £ S 17 e 6/9 6/9




6H12HFMBIETCOVID-19fEZ{E 3%

hIUmiTRIEEE SR/ 2022/06/12

=G #FECOVID-

ok | MRl FHR (=Y eSS 0% & 2w H EAR fE2H | ETH
36 2 | 902l E & PR Im 3 An e 5/23 6/4
37 B | 90ZmME WA RERE 27 e 6/7 6/8
38 % 80 5% = M/ i TRE P maEg | 6/9
39 % 80% % ECEN VLSS 27 B 6/2 6/9
40 | % 80% % DMEERE 27 B 6/8 6/9
41 % 80% % bR 37 e 5/30 6/3
47 % 80% % DMEERS 37 s 6/1 6/9
43 4 80Z 7% W RRIETRE i 6/6 SgVE -~ WEIR A = 6/8 6/8
44 | % 80% % PR IR S 27 6/2 B BB 6/3 6/9
45 % 80% % mIEMRE i RE 5/31 6/5
46 & 80 % RSN 37 TRE P 5/31 6/6
47 | % 80% % mIEMRSE 27 B 6/2 6/7
48 =2 80% % YRS 27 e 6/3 6/7
49 == 80Z % EBHE RS i i 6/7 6/8
50 | % 80% 5% W8 PRI 27 6/7 A 6/7 6/8
51 & 80% % el 37 TRE 6/6 6/9
52 5 80% 7% NIEERS Pt 5/29 Iz I5€ T8 5/29 6/3
53 % 80% % DMEERSE 37 5/18 IR PR 86~ 7K FE 5/18 6/9
54 | % 80 5% BEMNS &R 17 TRE 5/30 6/7
55 & 80% % R E 5 it 5/21 BE - 2 REK - IR g 5/22 6/6
56 | 2 80% % % i 5/29 L4 5/31 6/7
57 | % 80Z % ECEN TS 37 5/23 EN=R ) 5/23 6/8
58 % 80% 5% 5% i 6/2 ghfe 6/4 6/8
59 5 80% 7% HEHRE i 6/3 MR~ 5 6/3 6/8
60 | = 80% 5% % 37 6/4 B 6/5 6/8
61 % 80% % AEUREFEED) 3 TRE 6/9 6/8
62 & 80 15% BB RS 37 TRE 6/8 6/8
63 & 80% % DMEERE 27 5/30 BEE -~ [ 5/30 6/7
64 | B 80% 5% EIEE 3 e 6/6 6/9
65 == 80% % HIEER it 5/28 12075 5% 6/4 6/8
66 | X 80% 5% I it TRE P 6/7 6/7
67 5 80Z 7% DIEERE 3% 5/19 Al sk 5/21 6/5
68 % 80% 5% DMEERE it e 6/4 6/8
69 % 80% % thEE i i 5/25 | 5/28
70 58 80Z 7% NN EERSE & e e 6/6 6/9




6H12HFMBIETCOVID-19fEZ{E 3%

hIUmiTRIEEE SR/ 2022/06/12

ge | MRl | ER Bl e | mmA fEk w2H | e
1| % | sozm BRES 38 6/3 VB - X - 6/4 | 68
72| 8 | sozm B D = e FEK BRI R 677 | 68
73| % | sozm 1T S B = 5/28 BN B 528 | 6/9
74| % | sozm e 3 g 527 | 529
75 B 80% % DMEERS 2 e 5/24 6/7
76| % | sozm B 2 6/2 IR - HE - ENTHRE 6/6 | 6/8
7| % | sozm A 38 6/3 B 653 | 6/5
8| % | sozm W 1E S = 5/31 FIRES R 672 | 61
79| % | sozm BRI 2 g 653 | /9
80 | % | sozm DIMEERS = 6/2 %05 - IWRE S 672 | 68
81 | # | sozm ARG ERERES 2 570 | - AR B XLEEREE | 63 | 6/9
82| B | sozm s i e 63 | 677
83| B | sozm DIMEERS = 6/1 5 612 | 6/8
sa | = | so=m 18 M (EE D) = g 612 | 6/8
85 | % | sozm DI E RS 3 5/26 o 527 | 67
86| B | sozm S 4% 5/25 895 - ME TS 6/a | 64
57| = | sozm S 38 6/5 - BE - R 6/5 | 6/8
88| B | sozm W1E S B S = 6/7 205 6/8 | 6/8
89 | % | sozm V1T 3 5/29 IR - AR - IR A 530 | 6/7
90 5 80% % EMBRE 2 e 6/2 6/8
91 Eo4 80% % NI EERSE 2 5/26 [ k% [AS] 2t 5/26 6/9
2 | % | sozm A = g 528 | 6/8
93 7 80% 5% NMEERS fHE 5/30 BRE - MEMETRS -~ [E55 5/25 6/6
94 7 80% 7% EMBRE 2 5/28 IR EEE « BEE 5/29 6/6
o5 | = | sozm B 3 5/27 50% - B - B0 529 | 6/3
% | % | sozm BRI = e 530 | 677
97 | B | sozm B D 2 g 531 | 6/4
8 | % | sozm B 2 6/1 205 AR 61 | 677
% | = | sozm BB = g 612 | 677
00| 2 | sozm BB 3 L 6/8 | 5/25
01| % | sozm V1T = SR DR DY 6/6 | 6/5
02| % | 7023 o 21 e 677 | 6/8
03| 2 | 702m B = g 516 | 6/6
104 = | 702m BB 3 L 530 | 677
105 B 70% 5% ey 17 5/31 BE B 5/31 6/8




6H12HFMBIETCOVID-19fEZ{E 3%

hIUmiTRIEEE SR/ 2022/06/12

ge | MRl | ER Bl e | mmA fEk w2H | e
06| = | 70%% 1T 2 B = 6/1 205 BR 529 | 6/5
07| = | 702= BRAES 3 6/2 O - IR - B 6/3 | 6/6
08| % | 70%% DMEERS = e 6/4 | 6/8
09| 2 | 7023 s 2 e 6/5 | 6/5
10| = | 70%m TS 175 6/3 % - 208 6/3 | 6/9
11| = | 7023 BT 2 5/19 B8 - IR - S 5719 | 6/8
12| = | 7023 TS 38 g s/14 | 529
13| 2 | 70%% s i e 6/9 | 6/9
14| = | 7028 B ES 2 6/5 0E 1 6/5 | 677
115 | % | 70%m 1T S B S 38 g 529 | 6/6
16| % | 70%% BRI 15 e 672 | 62
17| = | 7023 B 5 oa |7 HEERCERRCER ) 6 | e
18| = | 70%m s = g 529 | 529
19| % | 70%m A 3 6/1 IR 671 | 67
20| B | 70%% Sl 15 e 6/8 | 6/8
01| % | 70%m s = 5/30 25pe 671 | 6/3
122 7 70% 7% 52 fiF I e 5/26 6/9
23| % | 70%m W1E S B S = 6/8 R 6/8 | 6/8
24| % | 70%m 1T 2 B 3 5/22 5 524 | 5730
125 | = | 70%% N 3 6/1 R« MEE 671 | 6/8
126 | = | 70%m Bl 38 5/25 0E  1 526 | 6/9
127 = | 7023 BB = 5/28 205 o 528 | 6/5
8| = | 70%m A = e 6/8 | 6/9
120 | = | 70%m BHER i e 530 | 6/8
130 2 | 70%%m EnlEns = s 5719 | 6/7
131 = | 703m DIMEERS 3 6/5 REE 6/7 | 6/5
132 = | eozm BT = g 6/7 | 68
133 = | e0%m 0 3 520 | MAER - RBERAEESMS) | 531 | 5/31
134 = | eozm s 3 g 6/6 | 6/9
135 | = | e0%m o = L 6/7 | 69
136 e 60%% 5% ‘2 MRS 3 5/25 220 - IR % 5/26 5/30
137 = | eozm B 3 e 6/8 | 6/9
138 | % | eozm DIMEERS = o 6/9 | 6/9
139 | % | e0%m bR 17 5/29 IR 531 | 6/1
40| = | 60zm s = e 6/5 | 6/8




6H12HFMBIETCOVID-19fEZ{E 3%

hIUmiTRIEEE SR/ 2022/06/12

ge | MRl | ER Bl e | mmA fEk w2H | e
41| % | eozm DIEERE 38 e 525 | 6/9
42| 2 | ecozm S 3 5/28 FRER - - B 531 | 67
43| = | eozm i = 5/31 BR S S 531 | 5731
40| = | e02m S = 6/5 EREE 6/5 | 6/9
145 | 2 | cozm S 175 6/7 205 BR 677 | 677
146 | = | e0%m S 37 L 653 | 6/8
147 | = | e0zm DI E R 38 5/20 e 524 | 6/8
148 5 60% 5% ‘2R E 2 5/27 lm ~ B20E ~ NZI 5/28 6/3
149 | = | e0zm B = 6/2 205 o 612 | 68
50| 2 | eozm 1T 2 B 2 6/6 IR - TURAS 6/a | 6/6
51| = | eozm FE(LS = e 6/a | 6/3
52| = | so=m S 3 6/1 R 672 | 6/8
153 5 50% % JEAES 3% 5/28 I 5/29 5/30
54| = | sozm A = 6/8 =i 6/8 | 6/8
155 | = | sozm B 2 6/5 FIRAEIE - T 6/5 | 6/8
156 | = | sozm B 4% e 513 | 6/8
57| = | sozm b = 5/25 FRER - 525 | 6/8
158 | % | sozm B RS = g 530 | 6/8
59| = | sozm s = L 526 | 6/9
60| = | sozm B 17 e 6/6 | 6/5
61| % | 40zm s = s 6/7 | 68
62| = | 40zm B D 3 5/3 205 o 53 | 6/9
63| = | 302m AT 3 5/30 FEK - IR 530 | 6/5




